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/* DCH test buffer calculation

exp x = ex
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∆H = mc∆T

∆H = mC

∆P = P 0χ i

∆Tb = Kbmi

∆Tf = Kfmi

π = MRT i

Q =
(CC)c(CD)d

(CA)a(CB)b

K =
[C]c[D]d

[A]a[B]b
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pH = − log [H+]

pOH = − log [OH−]

pKa = − log Ka

Kw = 10−14

[H+][OH−] = Kw

KaKb = Kw

[H+] = Ca

[OH−] = Cb

[H+] = (KaCa)
1/2

[OH−] = (KbCb)
1/2

[H+] = Ka(Ca/Cb)

pH = pKa + log(Cb/Ca)

[OH−] = Kb(Cb/Ca)

pOH = pKb + log(Ca/Cb)

[H+] = (KaxKay)
1/2

pH = 0.5(pKax + pKay)

∆G = −RT lnK

= −nFE

Ksp = [A]x[B]y

Eo
cell = Eo

cathode − Eo
anode

∆G = ∆Go + RT lnQ

F = 9.649 × 104 C · mol−1

A = 1 C · s−1

q = nF

= It

rate = k[A]x[B]y[C]z[D]w
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